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Sifleflwed / SCIENCE

| (0D wHHD EE® eufl / Tamil & Engﬁﬁh Versions)

Gpirn : 2% wenfl ] [ Qurss wHlGLETSET @ 75
Time Allowed : 2%2 Hours | . [Maximum Marks : 75
sifleyent : (1) Awags elamss@shd sflurs ofsal ufeurd o dareargr eramLigaman

slluriggés Gsrarereyh. Fsludlela Gapul@dEulean seons
samaranuumerilin o Langwrs CsflellésayL. ,
2) Bob ez smUY ewwlleas LLEGL aWgusSHELD,
<23 ECaMg HeughGo LwarBés Ceuam@b. UL ESE cuarausnE
Quendled LweTLHEHSELD.
Instructions : (1) Check the question paper for faimess of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

| G@OllY : Qeucilarmggmer epenm) Wfleysemers ClgmrerLg).

Note : This question paper contains three sections. - ‘

9fley - I/ SECTION - I
(o UGuemser : 15) / (Marks : 15)
G@olly : () GQuniflellér o erar 15 cllamasEpEEn eflaweaflssea. ~ 15x1=15

() Seoiys eHllad Qasr@ssiul Garer wrhny eSlensafld.
Blseaybd sflwrar elenlamws CarpolsHSS eT(PSeLd. -

Note: . (i) Answer all the 15 questions.

(i) €hoose the correct answer from the alternatives given in the brackets.
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Awbess Csirays Carlum mL Geuefud L et

(erieey Lriefler, aflyGar-e-adfey, HRar Cenma eo- @mstrtrrl_a:x S

UTUEHL-6D GOLDTITE)
The theory of Natural Selection was proposed by .
(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baphse Lamarck)

Hnpe GRbessE (e Wwsald AsrhssIuGn Crmiss@lys
(eurlieupl GumrallGuim, DPT, DPT wpmib GumelGuwr, BCG)

The first vaccine injected into a just born baby is
(Oral Polio, DPT, DPT and Oral Polio, BCG)

@@ ALE.dl. Qréssde sramiu@n @uaure @réss sissomrular oaray
(80 - 100 B1.8). / GL&.60, 80 - 120 0.4, / GQL&.6, 80 - 150 0.4, / QL&.&,
70 - 120 1.4l [/ GL§l.&dl.)

Normal blood glucose level in 1 dl of blood is
(80 - 100 mgfdl 80 - 120 mg/dl, 80 - 150 mg/dl, 70 - 120 mg/d])

LS @10 g,rrsur;masaﬂeu LimeSlent Cumss @Dsmg)uﬂaa mBenL_Clumb (50550 Ihl& ey

(55@6}.]@1,&560 (PepeTé5e, WarTHId o (Heurse, aEIHeSEGersms)
In sexual reproduction of flowering plants, the first event involved in this is
(fertilization, germination, regeneration, pollination)

waigaflar srmefl o Lo CQeuliubloae
(984 - 98.6°F, 96.6 - 96.8°F, 94.4 - 98.6°F, 98.4 - 99.6°F )
Normal body temperature of man is

- (98.4 - 98.6°F, 966 96.8°F, 94.4 - 98.6°F, 98.4 - 996°F)

FFeLlgar SrpPlebaré seurssSeanme o e moug) .
(réig s ybleid, eumeils e, asgame, oiflins onblan)
The product obtained in the anaerobic respiration of yeast is

(Lactic acid, Pyruvic acid, Ethanol, Acetic acid)

usemw GeuFullwelanme o e rEw QurkEsdEE THsSEST_(
(Qermeivig &, srélgib, 2 udf Gerraviys, Capevser Swameanitirer)
Example for product of green Chemistry is

(plastic, paper, bioplastics, halogen flame retardants)



10.

11.

12.

13.

3 ' 6380

@ubems aumyeld sTamiuBd waammwwrer GLmmer
(rsGaen, BaCaar, LCrmUGUer, S GLer)
is the chief component of natural gas.

(Ethane, Methane, Propane, Butane)

@lrﬂu_l gefl EIb euELer peatard afiCw aumbGUTE), e uras Ggfleigen
&myentd epertlulleor
(QGrdueliiume, &gmeamed)

When sunlight passes through the window of a classroom, its path is visible. This is
due to of light.

(reflection, scattering)

wells Gréssden (pH) oy
(7.5, 5.5, 7.4, 6)

. pH value of human blood is _

(7.5, 5.5, 7.4, 6)

er@uiby wHPL ubhsalld Ws s LkiE wdEEh saflob

(Fe, Ca, Co, Mg)
An important constituent of bone and teeth is
(Fe, Ca, Co, Mg)

Sl S6H @@Lbugéﬂeb o ¢Ter (pg GaibsHer IUPAC Guwir

(e, FEmsen)
IUPAC name of the first member of alkyne is __~
(ethene, ethyne)

yeNurtnded 50 &.4. Hleopujerer waflgailear srenl
(50 N, 35 N, 380 N, 490 N)

The weight of a person is 50 kg. The weight of that person on the surface of the earth
will be

(50 N, 35 N, 380 N, 490 N)

[ Slpliys / Turn over
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14. Qupmss sgilusss saflosder oign eram
(82-g &l =dlsid, 82-1 L& Gamay, euaml;ru_@a;asuul_eﬁ!memm GMDHSS 82)

The atomic number of natural radioactive element is
(greater than 82, less than 82, not defined, at least 82)

15. puuie 2 @meur@gh o wUQumEsD "4% aaie 2bEs <kular ums

(@Y g, @efl 2. sLgar i)
The magnification produced by a mirror is +%. Then the mirror is a

(Concave mirror, Convex mirror, Plane mirror)

Sfley - II/SECTION - 11
(dlLGlLuaTser @ 40)/(Marks : 40)

@Oy : aCsaid Qmus damssenss mﬂsm;mgﬂésaséq&. 20x2=40
Note : Answer any twenty questions.
16, LmpbUALD smips Ao wsdus QempEHLiLsdr &Gl Qer@Estiur Gerarar.

<slaupmer e fuaepeons Csislsdss erpss.

() sryeniladT @uplbiud srits urrbufug srreflser o Ekb.

(i) eraLig) @0y gaflen LIHNG S @D

(Sidvaded, wryur@asr, ApHlariorse, aer)

Here are certain important hereditary jargons. Fill in by choosing a suitable one from

the list given.

(allele, variation, speciation, gene) .
(i) are the factors which form the physical basis of inheritance.

(i) - is the alternate forms of the same gene.

17.  GurGenr@gCarrared Grﬁ]rruuu QUL g6 CTEMITED CTEMGN? SHGEH LILIGH LITg)?

What are monoclonal antibodies ? Mention its use.



18.

19.

20.
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QurmSss.

Blo’sL1 gl | - rour@ AeLwrg G G
tt - 2.9 seflulurdlsemer o (heurds
2 WAFHLIYsET - Saeser

G bQFe (epasblae) - oplrgea Hloeuubsgisa
Match the following :

Nif genes - Unspecialised mass of cells

tt - Biological computer manufacturing
Bio - Chips - Alleles

Stem Cells ‘- Nitrogen fixation

HIV-g8 sarLduyn <piie] wonib 2. nfliu@ssd <plie|ser wrane?
Name the tests done for the diagnosis and confirmation of AIDS.

&G QaT@&EsILL [Herar LLgens auanTigl Qerhiésiul(Rerer Lrsm e
2ifle FMEs.
Copy the diagram and label the parts.

(@i _Famed &y, AmBrsid)

(Adrenal gland, Kidney)

[ Sl / Turn over
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21. ClsrRssunL. uLgdeer euarhs LTERSmars &l

Copy the diagram and label the parts.

(eflengwienp, &(5)
(Seed coat, Embryo)

22. e Ldler wrevL i Asblevl ereny AmyFrsnd SoWESLULREDE, STreaTd

SeiTL_Plbg er(pg).

(@) e-Lafld Quptiu@ib siweass Caudl' AurpLsessd AnBrssdo Bmps:
@umuu@ﬁmmm.

(<) flopran Qréssder Caudl@ewy soamaenwl Guamidlps.

(8) dpbrsn eLdéd Qupb earss Ceudlls QumrmLseperuyh
GeuefCuhmflmg.

(F) Ambren oL dler omansg Ceudll QUL Samemb Cellss enoudgs
Qametdma).

The master chemists of our body are the Kidneys. Justify.

' (a) Kidneys filter all chemicals in the body.

(b) Kidneys maintain the chemical composition of blood.

(c) Kidneys eliminate all chemicals absorbed by the body.

(d) Kidneys store the chemicals accumulated in the body .

23. @Qrssb 2 epgadla ukig Gumn Garreowr LGFT e arsar, Br55 g sser
WITen ey ?

Name the protein and the blood cells responsible for the clotting of blood.



24,

25.

26.
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samsmeT &Ly SEM 1. ursSwsda e drer Wampsmen SHS&Is.

wafls Bawusder smp sHEGD Bows@ o weaGred aamb edflujb
Blenewd@g HevGLied eremmid Guuw. |

Correct the statements if they are wrong.

In the human heart, the contraction of the cardiac muscles is called diastole and the
relaxation of the cardiac muscles is called systole.

QerHss Ll ReTer LILHenss Heueiss.

(<=1) UL A, B -& srantlL(Hb Qusshisamerd @G0l 6Hs.

(<) ereueunn Geuelwsstiser Qgrlme Sanbd Geaneseter
BwsssSOl(mEE CeunuB&me?

Observe the diagram.

(@) Mention the type of movements shown in figure A and B.

(b) How does this movement differ from the movement of mimosa ?

FNESETEH HnTFD .ﬂ_;,éoa;érmn'sun'as rmdng.

(=1) CupsarL Claweila Grgg,_ma;u_i Hlapssl penL Cumdlpg?
(<) orpg pevrgniifil FEOLBSDS?

Sugar is converted into alcohol.

(a) In the above reaction what kind of process takes place ?

(b)  Which micro organism is involved ?

[ Smiys / Turn over
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27,

28.

8

A, B @il sreurs semgen eurcv@en Hassaiern QUuTsmers @GoILIHs.
(1) A, B e Guwinser ' |
(=) A Wer aufluns sLgsLILHID Glgrr@@'rrsssi-r Wimeneu?

(@) B ulen eulurs sLSsLLIMID QUTHETSET Wreneu?

Name the types of vascular tissues in the plant stem which are labelled A and B.
(8) Name A and B.

(b) What materials are transported through A ?

(c)  What materials are transported through B ?

CamglL @)L sensg ﬁgguﬁs.

(o) dlowndlamisdr seurflggeler Curg _ Qeueflel L@ pg?

(<) Bflw geafl@er weraflepeuder greugriserTad gmnfﬂé;a;lﬂu@& Quim(per
SGLD.

(ariGur enapl Crl, srivue-enl -op&ms[)

Fill in the blanks :

(@) Animals 'give out through respiration.

(b) In the presénce of sunlight plants prepare i ¢

(Carbohydrate, carbon-di-oxide)
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29. Gar@ssuul@erer ULSmg 2 HMCHIEE, ahs < hmed 2 (HeurssUL (S pns)
aarlengs sar(hllgssen. uLsde QsrHssiul Berar uTskIS @
erenauGignd Qiram(B LTSS GO S5s.

(Bengow, Warswims WaGarhnb sUGUUBSS, GAluu@sgr, Cui
WlenGemm L @flu Wenseob, Wasan oiamwii)

Observe the picture given below and find out what type of energy is produced. Label
any two parts of the diagram from the given list.

-(battery, battery charger controller, solar incidence, D.C. load, battery system)

30. Gurmbsras BEEs.
(=) 218 Spdsanred, usms waw, 2 ulfl maf, QuLCrraSlwib.
(%}_Snwgn, epLLmi(, @Errgﬁlél;rr_ﬁu@, F5Cud).
Find the odd one out :
(a) Bio - alcohol, green diesel, bio - ethers, petroleum.

(b)  Cholera, typhoid, scabies, dysentery.

[ Smlys / Turn over
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31.

32.

33.

34.

35.
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wriluperer Hambul Qup Guaib, SEmbul Gup Guers aahsmar

pernwrsl GummEEs.

GUGTRIGET A B - C

buls Quoib eueTRIGET il & M G Grredlwib

Smoul Qup BueTs eueTiiser |@ant Fme | @uwHems @qu @A qafl - dme

Match the suitable renewable and non - renewable sources :

Sources . A B C
Renewable Coal Wind Petroleum
Non-Renewable Hydrogen Natural gas Solar energy

Glg)eﬁit'_Lq_Lu FOFENSGSD, A6l L1s sorsqsEh e drer Caupur@samens
&Cp Qar@ssuULBeter GHILLSET ppald er(pgis. (25°C-6)

(1) 16 £. NaCl 100 & ffld |

(<2) 36 &. NaCl100 £ $fléd

(@Ml : NaCl-6r sanydlmer 36 &)

Distinguish between the saturated and unsaturated solution at a temperature of 25°C,
using the data given below. (Note : Solubility of NaCl is 36 g)

(a) 16 g NaCl in 100 g water
(b) 36 g NaCl in 100 g water

(=) @ollit urarhisafley sarEsLILHWL U 6Tg?

(=) Steueurellen senr Fpenen Flsfss Bhser eramear Celieirger?
(a) Which gas is dissolved in soft drinks ?

(b) What will you do to increase the solubility of this gas ?

Weareumouengs Symbler smmy. 5 Cuomaser Bi (Bfiar apossmm Hleonm 18 &)
How many grams are there in 5 moles of water (Note : Molecular mass of water is 18 g},
R sorFdlan manyrrsasd weallufear Aedlea 1.0x1078 M eaafld e
pH wélly ereren? .

The hydroxide ion concentration of a solution is 1.0x 1078 M. What is the pH of the
solution ?



36,

37.

38.

39.
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SEUMTET &mmmé gfl Glas.

(1) @dlegdlen pH wdlly 7-g el iflsors @)mesLn.

(<) BTHM S _SsLLLL Uramhisellad s oulab LweTU(REmg.
Identify the wrong statements and correct them.

(@) The pH of acid is greater than 7.
(b)  Acetic acid is used in aerated drinks.

e nIFluuBSHSD © sTArL Ut snlemwlILEESOIULaNDame
eretfled LFens Himl Ligeud Csramdlmsy.

STTETTLD | : @bsL Liggdharer srrambd s1ré smsly smiruGen

(=) emduu@ssise srred @ram@in &

(=) 2 mfluuBsgse ofl srpemb ofl @damae

Assertion : A greenish layer appears on copper vessels, if left uncleaned.

Reason : It is due to the formation of a layer of basic copper carbonate.

Give the correct option :

(a)  Assertion and reason are correct and relevant to each other.

(b) Assertion is true but reason is not relevant to the assertion.

X erenp Gleuatefl Gureim Geueamenio Hip o Garsid 2 sevlmenL e Gabgl Y-m6
s®EDE. QBs Y erenp Cerwwrers X-Srrefdyler ef enaryfuyb Cumrg
anL_romen el (& faLsdpg. X whmpb Y g6 sar_hs.

X is a silvery white metal. X reacts with oxygen to form Y. The same compound is

obtained from the metal on reaction with steam with the liberation of hydrogen gas.
Identify X and Y.

2 NISLLOSHISE EUTLD eTeTLg| EmiLefen Sig.amorean qﬁu@mm@@m |
GUIGEILD <2 BLD. '
&IT{J 6VOTLD L oeurddlgieter smiuer Bretupdl augeud o i),

Casrhesiulperer 2 NALUOSHISEEE STrend shurs 2 _aTerHm?
Assertion : Diamond is the hardest crystalline form of carbon.
Reason : Carbon atoms in diamond are tetrahedral in nature.

Verify the suitability of the reason to the given assertion mentioned above.

[ Elmiys / Turn over
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40.

41.

42,
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Epsaranb sappsaie soumsear @mUlear Hmagss.

(=) @@ Hluwlier aflens erenLig g Srmb Hlevpuyerer Gummefiay 1 ms—?2
whEssag goUBSHID eflansuilen ereneud GGG,

(<) eflemanuib, erdlim eflenamyd eruGurgid @Gr Gurgeaflen g CawduBLb.

- Correct the mistakes, if any, in the following statements.

(a) One newton is the force that produces an acceleration of 1 ms ™2 in an object of
1 gram mass.

(b) Action and reaction always act on the same body.

Fgomi (A) - - QueE perrsetien, Yellufer 2jiquild @ienwssliul L &b
auLmgafles  Slrawrssiul. Gellfl  euryssdr
Cgefl&su B &l erne.

sayewrd (R) - Sreuwrasiul L @eaflfl curysser gper ciamreaimss

' S(H&E e, '

(=) A :_56‘1.![])[1’65‘[5] R stlwreng).
(<21) A sflwrengl, R geupnearg).
(

@) A R @Qranm@h seunras).
() A sflureng R, A-g euelluymssHlng.
Assertion (A) : Liquefied cryogenic gases are sprayed on electric cables in big cities.
Reason (R) : Liquefied cryogenic gases prevent wastage of power.
(a) A is incorrect and R is correct.
(b) A is correct and R is incorrect.
(c) Both A and R are incorrect.
(d) A is correct and R supports A.

Curmsgis.

(<) Wlengeab _ - (o)

(<) Blain oflemrdss - A
(@) Wem genL | - (B

() erall (o) sellls (apug) - S
Match the following :

(a) An electric cell - (o)

(b)  Electric bulb . - AN
M

() Resistance -
(d) Plug key (or) Switch (closed) - ad i




43.

44,

45.

46.

13

Gaurarr Heaswsdar uLb ECp QsrPéssiiul_(Herersg). LTS ers
Gl &&Ea.
Voltaic cell diagram is given below. Draw and label the parts,

e(m Wler eflemds@ 220 V LﬂGﬁTGﬁﬂUJ!‘_E)ﬂML_GHI @ eandsL L (Rrarg). BlenGenm LD
0.50 A ereilev, Wleim ellemddlem Smerr wrg?

An electric bulb is connected to a 220 V generator. The current is O 50 A, What is the
power of the bulb ?

Guqr.és@mu‘gg,jé; sLuurl® elletégsafler __ Hlp elleréEU

LWGTURSSIUHUSET STFERTD G 2ieneoberid.

(Bl : gefuien Asped ereureang si@ofarsdan pramol &e eé &8 565 6

2 @rerg)) l .

In traffic signals _ colour light is used to stop vehicles because it has
wavelength.

(Hint : Scattering of light is inversely proportional to the fourth power of its wa{relength)

DAL LILEGET 2 eer rpm QEmhsamens Casram® =il L eieparTani Blrlys.

LeDedl 6T Guflw Gbud

Sletrym D 2 6Ter Guerig uSle Cryrer AbLID

(@eflumg, swarss Gellwmy, Gy, swser @y, @alteads, GLlGleewna )
Fill the table with the appropriate words given in bracket.

the tooth's ' enlarged image

rear side of the vehicle erect image

(Convex mirror, Plano convex, Concave mirror, Plane mirror, Convex lens, Concave
lens)

6380
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47,

14

upeter UL S aTHsE HTHE oadl ETHSL LosHar Hosows sflurss
ST (H&mg?

Which of the compass needle orientations in the following diagram correctly describes
the magnet’s field at the point.

O
I

N ) S

G

Slfley - III/SECTION - III

(L LGluerser : 20)/ (Marks :.20)

GOuY : ()  eableurm uEHUASBHESID (b eNTTT PEVLD HIEBIE CITTESEHES

Note :

48.

49,

eflenLwefl&sa . 4x5=20
(i) Cseneuwren @L Rigalld ULBISET cumTs.
(i)  Answer any four questions by choosing one question from each part.

(i) Draw diagrams wherever necessary.
u@Sl - I/Part - I

(1) 'Elm;r:ﬁs GLEDHEE WHD M DISEEEHEET s Couamgw @Dfﬂuﬁ
SHLILE L auenenTenil 6T (LSS,

) QB85 sOLLASE epab erbEshs Crmusmars sHSHL Guigb?

(a)  Suggest the immunization schedule for the new born baby, in the first six months.

(b) What are the diseases that can be cured as per the schedule ?

By Geaeler emwlamus dgafleurar LLSHL 6 LTEREmETS GOSS
eSlarms: 5. :

Describe the structure of a neuron with the help of a neat, labelled diagram.



50.

51.

52.

53.

15

uES - I/Part - I1

GQmeilsenevs sreur aﬁ]@yguﬁ]@h Sl dafés.

Describe the structure of a dicot seed.

sflepws erflliugenmed gHUBL S LwWeED Qeudsmen UL gLSGHS.

List out the harmful effects of burning coal.

L&S - II/Part - I
Geneumd Siamissafien Gumed eramasmsmius asémﬁza%l@a.;.
(=1) 2 &l. epLyeen (<=4) 23 4. Gomguwib
(@) 40 4. sroflwun () 14 8. NsHwid
(2) 328 soui
Find how many moles of atoms are there in :
(@) 2 g of nitrogen , (b) 23 g of sodium
(c) 40 gof calcium (d) | 1.4 g of Lithium

() 32 g of sulphur

GHO, eramp gpavdanm eumivuri et s Caram sflwg Cemwow A Gemguwih

U &TTUGaTL senreeILcm BerHgL Quriigsme Hepssdng. A-er

Camgwib 2 Lenw CamLé searenmiblLen Caigg GOUESSID CUTS! papedamp)
Hlenm 16 Qamam_ i0Caar Lig euflesamus srihs (pse Garswrer evan Grr
sriuer ‘B @ws smEpg. A, B -g& san_fls. asgamaldmig ‘AT e
ereueumm gswrfludrser. ;

Organic compound ‘A’ of molecular formula C,H,0, gives brisk effervescence with
sodium-bicarbonate solution. Sodium salt of A on treatment with soda lime gives a

hydrocarbon “B” of molecular mass 16. It belongs to the first member of the alkane
family. What are ‘A’ and ‘B’ and how will you prepare ‘A’ from ethanol ?

6380
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54_4

55.

LGS - IV/Part - IV
shlrmueien srgameansdr gCsad mHdeaar smns.

Write any five achievements of Cﬁandrayaan.

gan fElsmsssrar wHHGE Flyd Gopurlels g Celeughsrs

ufpgienrssuul L Spersdr wpapGu :

UOULESS G : —3.5D @QLIILESSE sar : —4.00 D erafled
(31) Steulr eréueuenss @GapurlLred UrdEslul (Hememmi?

(<=4) Cupsam CQeaeansser éﬁ)mug@sb QuelpHmsELnr sdawg edlafibLseafe
Qe b mEELT?

(@) Q@ Ceasseafler arhg Qaadflar Gallwgb ifsn?

. The optical prescription of a pair of spectacle is :

Righteye: —35D  Lefteye: —4.00 D

(a) Name the defect of the eye,

(b) Are these lenses thinner at the middle or at the edges ?

() Which lens has a greater focal length ?

-00o-



